
NewAge Garage Stool 
Assembly Instructions

Thank you for purchasing a NewAge Product!

IM-PB3.26A-01

STOP

ATTENTION: Is your product damaged? 

Need help or spare parts? For fastest service, contact NewAge 
Products at  1-877-306-8930;  or support@newageproducts.com. 
Do not return to the retailer.



Care 
•	 Spot clean with a damp cloth soaked in water or mild soap. 
•	 Dry with a soft, clean cloth.  

 
NOTE: To avoid damage to the stool, do not use abrasives, flammable fluids, or harsh 
chemicals to clean the stool.

•	 This garage stool is designed for seating one person at a time.
•	 Failure to follow warnings could result in serious injury.
•	 This garage stool is for users weighing up to 120 Kg / 265 Lbs. It is not 

recommended for use by anyone weighing more than 120 Kg / 265 Lbs.
•	 Possibility of serious injury if the garage stool used improperly.
•	 Do not use for standing, not be used if any leg(s) is /are not on ground. 

Use on level ground.
•	 Do not stand on or use it as step ladder.
•	 Tighten all screws, knobs, bolts and parts firmly or otherwise do not use.
•	 Every month, check all screws, knobs and bolts and firmly tighten any that have 

loosened.
•	 If any parts are missing, damaged, or worn, stop using immediately.

WARNING

Weight Capacity

NOTE: Larger Bottom ring could be used as a foot rest. 

NOTE:  Top small ring is not to be used as a step and weight or 
force should not be applied to it. 

Seat Weight Capacity:  120 Kg / 265 Lbs.



Product Inspection

•	 Check to see all parts are received as per the order 
placed.

•	 Contact NewAge Products  at 1-877-306-8930;  for 
any missing parts.

•	 Inspect the products for any damages before 
starting the installation.

•	 Go through the installation instructions carefully 
before starting the installation.

Spare Parts

Parts and Tools Supplied

Leg Frames

Seat M6x16 Screw M6x30 Screw
X8

X12

X8

M6x15 Screw

Larger Ring Smaller Ring

Swivel Plate Allen Key
M5 & M6

Part Description SKU No.

M6x15 Screw 51626

M6x30 Screw 51627

M6x16 Screw 51628



I

H

Swivel in and out to adjust height

A B

E

C

D

A
B

E

G

H

E F

D

Assembling the Garage Stool
Keeping the leg assembly upright, position the 
larger ring (C) over the top of leg frame and 
move down to align with the lower holes in the 
sides of the legs. Insert four M6x30 screws (D) 
through the outer holes and four M6x15 screws 
(E) through the inner holes.

Stand the lower leg frame (B) upright with the 
center flat section facing upwards. Place the 
upper leg frame (A), with the center flat section 
facing down, over the top of the lower leg 
frame as shown. 

Place the swivel plate (G), flat side up, on the leg 
frame assembly. Align the holes on the swivel 
plate, closest to the leg frame, with the holes on 
the legs. Secure the swivel plate using four  
M6 x 16 screws (H) and tighten securely using 
an Allen key. 

Insert the smaller ring (F) into the center of 
the leg frame and align it with the top holes 
inside the legs. Insert the four M6x30 screws (D) 
through the outer holes and four M6 x15 screws 
(E) through the inner holes.

21

43

Place the seat (I), upside down, on a piece of cardboard to avoid scratching the top surface. Turn the leg 
frame and swivel plate assembly upside down towards the seat and align the swivel plate holes with the 
holes found behind the upholstered seat. Fasten the leg frame and swivel plate assembly to the seat using 
four M6 x 16 screws (H). Stand the stool upright and place in its final location. 

5



Scan this QR code with the camera 
on your mobile device to visit the 
NewAge Products Support Hub

www.newageproducts.com/support-hub/

• Name, address and telephone number
• Product Name / SKU Number
• A clear, detailed description of the problem
• Proof of purchase including order number

Register your NewAge Products purchase online for quicker 
customer assistance and access to exclusive benefits

Visit www.newageproducts.com/register/

Warranty Claim
For warranty service please contact NewAge Products at 
1-877-306-8930; or support@newageproducts.com
Please review all warranty details below, prior to 
contacting NewAge Products for a claim.
Scan the QR code on the right to access our support page or
visit www.newageproducts.com/contact-us/

PROOF OF PURCHASE IS REQUIRED 
TO OBTAIN WARRANTY SERVICE. 
Please have the following information available 
when you call our customer service team:

NEWAGE PRODUCTS INC. GARAGE SERIES 
MANUFACTURER WARRANTY

ONE YEAR LIMITED WARRANTY
WHAT IS COVERED

When this product is installed, operated and maintained according to the instructions attached to or furnished with the product, NewAge Products 
Inc. will replace the defective product or parts if the part fails as a result of defective materials or workmanship for the warranty duration from the 
purchase date of the product.

1.	 Service calls to correct the installation of any NewAge products or to instruct you how to use or install them.
2.	 Damage resulting from products caused by accident, misuse, abuse, fire, flood, improper installation, acts of God, neglect, modification or 

mishandling.
3.	 Products damaged by improperly loading beyond the specified maximum weight capacity outlined in the instructions provided with the 

product.
4.	 Repairs or replacement when your product is used in other than normal, residential use, such as a commercial environment, or handled in 

anyway inconsistent with the installation instructions included with the product.
5.	 Cosmetic damage, including scratches, dings, dents or cracks in paint that do not affect the structural or functional capability of the product.
6.	 Surfaces damaged due to improper use of chemicals, and detergents.
7.	 Replacement parts for NewAge products outside Canada and the United States.
8.	 Loss due to theft.
9.	 Damage resulting from use of the product contrary and not in accordance to the instruction manual.
10.	 Any labor costs during the warranty period.

DISCLAIMER OF IMPLIED WARRANTIES
IMPLIED WARRANTIES, INCLUDING TO THE EXTENT APPLICABLE WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE, 
ARE EXCLUDED TO THE EXTENT LEGALLY PERMISSIBLE. ANY IMPLIED WARRANTIES THAT MAY BE IMPOSED BY LAW ARE LIMITED TO ONE YEAR, OR 
THE SHORTEST PERIOD ALLOWED BY LAW. THIS WARRANTY IS LIMITED TO THE ORIGINAL BUYER. Some states and provinces do not allow limitations 
on the duration of implied warranties of merchantability or fitness, so this limitation may not apply to you. This warranty gives you specific legal rights, and 
you also may have other rights that vary from state to state or province to province.

LIMITATION OF REMEDIES; EXCLUSION OF INCIDENTAL AND CONSEQUENTIAL DAMAGES
YOUR SOLE AND EXCLUSIVE REMEDY UNDER THIS LIMITED WARRANTY SHALL BE PRODUCT REPAIR OR REPLACEMENT AT OUR DISCRETION AS 
PROVIDED HEREIN. NEWAGE SHALL NOT BE LIABLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES. Some states and provinces do not allow the 
exclusion or limitation of incidental or consequential damages, so these limitations and exclusions may not apply to you. This warranty gives you specific 
legal rights, and you also may have other rights that vary from state to state or province to province.

WHAT IS NOT COVERED



Tabouret de garage NewAge
Instructions d'assemblage

Nous vous remercions d'avoir fait l'achat d'un produit NewAge!

IM-PB3.26A-01

STOP

ATTENTION : Votre produit est-il endommagé? 

Vous avez besoin d’assistance ou de pièces de rechange? Pour 
un service plus rapide, contactez NewAge Products au 1 877 306-
8930;ou écrivez à support@newageproducts.com. Ne retournez 
pas ce produit au détaillant.



Soins 
•	 Enlevez les taches avec un chiffon humide trempé dans de l’eau et du savon doux. 
•	 Séchez avec un chiffon propre et doux.  

 
REMARQUE : Pour éviter d’endommager le tabouret, n’utilisez pas d’abrasif, de liquides 
inflammables ou de produits chimiques forts pour le nettoyer.

REMARQUE : L’anneau inférieur le plus grand peut être utilisé 
comme repose-pieds.

REMARQUE :  Le petit anneau supérieur ne doit pas être 
utilisé comme marche et il ne faut pas y appliquer de poids ou 
de force. 

Capacité de charge

•	 Ce tabouret de garage est conçu pour qu’une seule personne s’y assoie à la fois.
•	 Des blessures graves pourraient survenir si ces avertissements ne sont pas 

respectés.
•	 Ce tabouret de garage est destiné aux utilisateurs d’un poids maximum de 

120 kg/265 lb. Il n’est pas recommandé pour quiconque est plus lourd que 120 kg 
/ 265 lb.

•	 Il existe une possibilité de blessures graves si le tabouret de garage est utilisé de 
manière inadéquate.

•	 Ne l’utilisez pas pour vous tenir debout et si une ou plusieurs des pattes ne se 
trouvent pas au sol. 
Utilisez le tabouret sur une surface au niveau.

•	 Ne vous tenez pas debout dessus et ne l’utilisez pas comme un escabeau.
•	 Serrez fermement toutes les vis, tous les boutons, tous les boulons et toutes les 

pièces ou ne les utilisez pas.
•	 Chaque mois, vérifiez toutes les vis, tous les boutons et tous les boulons, et serrez 

fermement tous ceux qui pourraient être desserrés.
•	 Si des pièces manquent, sont endommagées ou sont usées, cessez d’utiliser le 

tabouret.

AVERTISSEMENT!

Capacité de poids du siège:  120 Kg / 265 Lbs.



Inspection du produit

•	 Assurez-vous d’avoir reçu toutes les pièces 
conformément à la commande que vous avez 
passée.

•	 S’il manque des pièces, contact NewAge Products 
au 1 877 306-8930.

•	 Avant de commencer l’installation, inspectez les 
produits pour y déceler tout dommage.

•	 Lisez attentivement les instructions d'installation 
avant de commencer l’installation.

Pièces de rechange

Pièces et outils fournis

Bâtis des pattes

Siège Vis M6x16 Vis M6x30
X8

X12

X8

Vis M6x15

Grand anneau Petit anneau

Plaque pivotante Clé hexagonale
M5 et M6

Pièce Description Nº UGS

Vis M6x15 51626

Vis M6x30 51627

Vis M6x16 51628



I

H

Ajustez la taille par le pivot 
dedans et dehors

A B

E

C

D

A
B

E

G

H

E F

D

Assemblage du tabouret de garage
Tout en maintenant l’assemblage des pattes 
debout, positionnez le grand anneau (C) sur le 
haut du bâti des pattes et déplacez-le vers le 
bas pour l’aligner avec les trous inférieurs dans 
les côtés des pattes. Insérez quatre vis M6x30 
(D) dans les trous extérieurs et quatre vis M6x15 
(E) dans les trous intérieurs.

Tenez en position debout le bâti des pattes 
inférieur (B) avec la section plate centrale 
faisant face vers le haut. Placez le bâti des pattes 
supérieur (A), avec la section plate centrale 
faisant face vers le bas, par-dessus le haut du 
bâti des pattes inférieur, comme illustré. 

Placez la plaque pivotante (G), section plate 
vers le haut, sur l’assemblage de bâtis des 
pattes. Alignez les trous sur la plaque pivotante, 
le plus proche du bâti des pattes, avec les trous 
sur les pattes. Fixez la plaque pivotante en 
utilisant des vis M6 x 16 (H) et serrez solidement 
à l’aide d’une clé hexagonale. 

Insérez le petit anneau (F) dans le centre du bâti 
des pattes et alignez-le avec les trous supérieurs 
à l’intérieur des pattes. Insérez les quatre vis 
M6x30 (D) dans les trous extérieurs et quatre vis 
M6x15 (E) dans les trous intérieurs.

21

43

Placez le siège (I) à l’envers sur un morceau de carton pour éviter d’érafler la surface supérieure Retournez 
l’assemblage des bâtis des pattes et de la plaque pivotante vers le siège et alignez les trous de la plaque 
pivotante situés derrière le siège rembourré. Fixez l’assemblage des bâtis des pattes et de la plaque pivotante 
sur le siège en utilisant quatre vis M6 x 16 (H). Mettez le tabouret en position debout et placez-le à son 
emplacement définitif. 

5



Scannez ce code QR avec l’appareil photo
sur votre appareil mobile pour visiter le

Centre d’assistance des produits NewAge
www.newageproducts.com/support-hub/

• Nom, adresse et numéro de téléphone
• Nom du produit / numéro de SKU
• Une description claire et détaillée du 
problème
• Preuve d’achat avec numéro de commande

Enregistrez votre achat de produits NewAge en ligne pour  
l’assistance aux clients et l’accès à des avantages exclusifs

Visit www.newageproducts.com/register/

Réclamations de garantie
Pour le service de garantie, veuillez contacter NewAge Products au
1-877-306-8930; ou support@newageproducts.com
Veuillez consulter tous les détails de la garantie ci-dessous, avant
contacter NewAge Products pour une réclamation.
Scannez le code QR à droite pour accéder à notre page d’assistance 
ou visit www.newageproducts.com/contact-us/

UNE PREUVE D’ACHAT EST REQUISE
POUR OBTENIR UN SERVICE DE GARANTIE. 
Veuillez disposer des informations suivantes 
lorsque vous appelez notre service clientèle:

NEWAGE PRODUCTS INC. GARANTIE DU 
FABRICANT DE LA SÉRIE GARAGE

GARANTIE LIMITÉE D’UN AN
CE QUI EST COUVERT

Lorsque ce produit est installé, utilisé et entretenu conformément aux instructions jointes ou fournies avec le 
produit, NewAge Products Inc. remplacera le produit ou les pièces défectueux si la pièce tombe en panne en raison 
de matériaux défectueux ou de fabrication pendant la durée de la garantie à partir du date d’achat du produit.

1.	 Les appels de service pour corriger l’installation de tout produit NewAge ou pour vous montrer comment les utiliser 
ou les installer.

2.	 Les dommages résultant de produits causés par un accident, une mauvaise utilisation, un abus, un incendie, une 
inondation, une installation incorrecte, un cas de force majeure, une négligence, une modification ou une mauvaise 
manipulation.

3.	 Products damaged by improperly loading beyond the specified maximum weight capacity outlined in the instructions 
provided with the product.

4.	 Les réparations ou le remplacement lorsque votre produit est utilisé pour un usage autre que résidentiel normal, 
comme un milieu commercial, ou portatif d’une manière incohérente avec les instructions d’installation.

5.	 Cosmetic damage, including scratches, dings, dents or cracks in paint that do not affect the structural or functional 
capability of the product.

6.	 Surfaces endommagées en raison d’une mauvaise utilisation de produits chimiques et de détergents.
7.	 Les pièces de rechange pour des produits NewAge à l’extérieur du Canada et des États-Unis.
8.	 Une perte en raison d’un vol.
9.	 Les dommages résultant d’une utilisation contraire du produit et non conforme au manuel d’instructions.
10.	 Tous les frais de main-d’œuvre pendant la période de garantie.

DISCLAIMER OF IMPLIED WARRANTIES
LES GARANTIES IMPLICITES, Y COMPRIS, DANS LA MESURE OÙ CELA EST APPLICABLE, LES GARANTIES DE QUALITÉ MARCHANDE 
OU DE CONFORMITÉ À UN USAGE PARTICULIER, SONT EXCLUES DANS LA LIMITE OÙ LA LOI LE PERMET. TOUTE GARANTIE IMPLICITE 
QUI POURRAIT ÊTRE IMPOSÉE PAR LA LOI DOIT SE LIMITER À UN AN, OU À LA PÉRIODE LA PLUS COURTE PERMISE PAR LA LOI. CETTE 
GARANTIE EST LIMITÉE À L’ACHETEUR ORIGINAL. Certains états et provinces n’autorisent pas les limitations de durée des garanties implicites 
de qualité marchande ou d’adéquation, de sorte que cette limitation peut ne pas s’appliquer à vous. Cette garantie vous donne des droits légaux 
spécifiques, et vous pouvez également avoir d’autres droits qui varient d’un état à l’autre ou d’une province à l’autre.

LIMITATION DES RECOURS; EXCLUSION DES DOMMAGES ACCESSOIRES ET CONSÉCUTIFS
VOTRE SEUL ET EXCLUSIF RECOURS EN VERTU DE CETTE GARANTIE LIMITÉE SERA LA RÉPARATION OU LE REMPLACEMENT DU PRODUIT 
À NOTRE DISCRÉTION COMME PRÉVU ICI. NEWAGE NE SERA PAS RESPONSABLE DES DOMMAGES ACCESSOIRES OU INDIRECTS. Certains 
états et provinces n’autorisent pas l’exclusion ou la limitation des dommages accessoires ou consécutifs, de sorte que ces limitations et 
exclusions peuvent ne pas s’appliquer à vous. Cette garantie vous donne des droits légaux spécifiques, et vous pouvez également avoir d’autres 
droits qui varient d’un état à l’autre ou d’une province à l’autre.

CE QUI N’EST PAS COUVERT


